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This mxm,nu contains 7 pages (including this cover page) and 6 problems. Check to see if any page
i E.H.wm_bm. Enter your name and SID number on the top of this page, circle your section, and pr:
your initials on the top of every page, in case the pages become separated

Om._n:mngnn Or computers of any kind are not allowed. You are not allowed to consult any otbs
materials of any kind, including books, notes and your neighbors. You may use the back of th
sheet for your notes (“scratch paper”). If you need additional paper, let the proctors kmow

You are required to show your work on each problem on this exam. The following rules apply:

e If you use a result from class, discussion, or
homework you must indicate this and explain
why the result may be applied. : B 1

Problem | Points | Score |

ot
b2

® Organize your work, in a reasonably neat and
coherent way, in the space provided. Work scat-

| tered all over the page without a clear ordering
% will receive very little credit. 3 3

2
b2

credit. A correct answer, unsup-

ous or unsupported answers will not : ’
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1. (2 points) The Summand not involving z in the expansion of
a a
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15 20. What is k?
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3. (3 points) Consider the following recurrence relation and initial condition:

' Up=Up— +2U,_3+2n% —10n + 9, Uy=13, Up=-12

—

You may assume that Uy = —n?isa particular solution to the recurrence relation. Find Uy

(No need to simplify your formula.)
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5. (3 points) In this problem, we are concerned with the divisibility relation on the set of integs
{2,3,4,...} given by

{(z,y) | = divides y}.

Consider the associated digraph, and let G be the underlying (undirected) graph, obtained |
forgetting that the edges have a direction. Is G connected? What is the

. : oy Al depen
for two vertices in the same component? Hint: the answer to the last question will depet
the two vertices picked.
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